Number of Supplier participated: Bid Quantity Price (SGD) Total Bid (SGD) Awarded Quantity (SGD) Awarded Supplier **Event - Lot Title** Awarded Spend (SGD) Yes Oxygen Studio Designs Pte Ltd OPTIONAL: Design and Print of Singlepage "With Compliments" Slip -Annual Review 2022 500 1.20 600 500.00 600 OPTIONAL: Design and Print of 8pp booklet for selected essays - Annual Review 2023 500 4.40 2200 500.00 2200 OPTIONAL: Per Additional Print Block of 200 Copies for Annual Review 2023 2 1,040.00 2080 2.00 2080 OPTIONAL: Per Additional Block of 10pages in 4C X 4C -Annual Review 2022 5 5750 5.00 5750 1,150.00 OPTIONAL: Per Additional Block of 10pages in 4C X 4C -Annual Review 2023 5750 5.00 5750 1,150.00 OPTIONAL: Design and Print of 8pp booklet for selected essays - Annual Review 2022 500 4.40 2200 500.00 2200 Write, Copyedit and Proofread All Content -Annual Review 2022 6,200.00 6200 1.00 6200 Design and Print the RSIS Annual Review 2022 500 28.00 14000 500.00 14000 OPTIONAL: Per Additional Print Block of 200 Copies for Annual Review 2022 2 1,040.00 2.00 2080 2080 OPTIONAL: Write, Copyedit and Proofread All Content -Annual Review 2023 1 6,200.00 6200 1.00 6200

> OPTIONAL: Design and Print the RSIS Annual Review 2023

500

28.00

14000

500.00

14000

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
		OPTIONAL: Design and Print of Single- page "With Compliments" Slip –					_
Yes	Oxygen Studio Designs Pte Ltd	Annual Review 2023	500	1.20	600	500.00	600
No							
110	Design Fusion Pte Ltd						
	•	OPTIONAL: Design					
		and Print of Single-					
		page "With					
		Compliments" Slip – Annual Review 2022	500	0.82	410	0.00	0
		OPTIONAL: Design	500	0.02	410	0.00	O
		and Print of 8pp					
		booklet for selected					
		essays – Annual					
		Review 2023	500	8.80	4400	0.00	0
		OPTIONAL: Per					
		Additional Print Block					
		of 200 Copies for Annual Review 2023	2	660.00	1320	0.00	0
		OPTIONAL: Per	2	000.00	1320	0.00	O
		Additional Block of 10-					
		pages in 4C X 4C –					
		Annual Review 2022	5	2,110.00	10550	0.00	0
		OPTIONAL: Per					
		Additional Block of 10-	•				
		pages in 4C X 4C –	_	0.055.00	44075	0.00	0
		Annual Review 2023 OPTIONAL: Design	5	2,255.00	11275	0.00	0
		and Print of 8pp					
		booklet for selected					
		essays – Annual					
		Review 2022	500	8.50	4250	0.00	0
		Write, Copyedit and					
		Proofread All Content					
		Annual Review 2022	1	9,360.00	9360	0.00	0
		Design and Print the RSIS Annual Review					
		2022	500	32.80	16400	0.00	0
		OPTIONAL: Per	000	02.00	10100	0.00	
		Additional Print Block					
		of 200 Copies for					
		Annual Review 2022	2	590.00	1180	0.00	0
		OPTIONAL: Write,					
		Copyedit and Proofread All Content					
		Annual Review 2023		9,360.00	9360	0.00	0
		ATTITUDE I NOVIOW ZUZU	•	5,000.00	5500	0.00	Ü

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
No	Design Fusion Pte Ltd	OPTIONAL: Design and Print the RSIS Annual Review 2023	500	36.65	18325	0.00	0
		OPTIONAL: Design and Print of Single- page "With					
		Compliments" Slip – Annual Review 2023	500	0.92	460	0.00	0
	BRANDX INQ PTE LTD						
		OPTIONAL: Design and Print of Single- page "With					
		Compliments" Slip –					
		Annual Review 2022 OPTIONAL: Design	500	1.20	600	0.00	0
		and Print of 8pp booklet for selected					
		essays – Annual Review 2023	500	5.40	2700	0.00	0
		OPTIONAL: Per Additional Print Block of 200 Copies for					
		Annual Review 2023 OPTIONAL: Per	2	1,175.00	2350	0.00	0
		Additional Block of 10- pages in 4C X 4C – Annual Review 2022		1,230.00	6150	0.00	0
		OPTIONAL: Per Additional Block of 10-					
		pages in 4C X 4C – Annual Review 2023 OPTIONAL: Design	5	1,160.00	5800	0.00	0
		and Print of 8pp booklet for selected					
		essays – Annual Review 2022 Write, Copyedit and	500	5.00	2500	0.00	0
		Proofread All Content - Annual Review 2022		7,250.00	7250	0.00	0
		Design and Print the RSIS Annual Review 2022	500	20.50	10250	0.00	0
		OPTIONAL: Per Additional Print Block	500	20.50	10250	0.00	0
		of 200 Copies for Annual Review 2022 OPTIONAL: Write,	2	1,050.00	2100	0.00	0
		Copyedit and Proofread All Content		7 000 00	7000	0.00	
		Annual Review 2023	ı	7,900.00	7900	0.00	0

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
		OPTIONAL: Design					
NI-	DDANDY INO DTE LTD	and Print the RSIS	500	00.40	44000	0.00	0
No	BRANDX INQ PTE LTD	Annual Review 2023 OPTIONAL: Design	500	22.40	11200	0.00	0
		and Print of Single-					
		page "With					
		Compliments" Slip –					
		Annual Review 2023	500	1.70	850	0.00	0
	UNIGROW CREATIVE PRINT PTE LTD	ODTIONAL D					
		OPTIONAL: Design					
		and Print of Single- page "With					
		Compliments" Slip –					
		Annual Review 2022	500	0.80	400	0.00	0
		OPTIONAL: Design					-
		and Print of 8pp					
		booklet for selected					
		essays – Annual					
		Review 2023	500	3.20	1600	0.00	0
		OPTIONAL: Per					
		Additional Print Block of 200 Copies for					
		Annual Review 2023	2	3,000.00	6000	0.00	0
		OPTIONAL: Per	2	3,000.00	0000	0.00	0
		Additional Block of 10-					
		pages in 4C X 4C –					
		Annual Review 2022	5	900.00	4500	0.00	0
		OPTIONAL: Per					
		Additional Block of 10-					
		pages in 4C X 4C –	F	000.00	4500	0.00	0
		Annual Review 2023 OPTIONAL: Design	5	900.00	4500	0.00	0
		and Print of 8pp					
		booklet for selected					
		essays – Annual					
		Review 2022	500	3.20	1600	0.00	0
		Write, Copyedit and					
		Proofread All Content -					
		Annual Review 2022	1	5,000.00	5000	0.00	0
		Design and Print the					
		RSIS Annual Review 2022	500	25.00	12500	0.00	0
		OPTIONAL: Per	500	20.00	12300	0.00	0
		Additional Print Block					
		of 200 Copies for					
		Annual Review 2022	2	3,000.00	6000	0.00	0
		OPTIONAL: Write,					
		Copyedit and					
		Proofread All Content -		F 000 00	5000	0.00	•
		Annual Review 2023	1	5,000.00	5000	0.00	0

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGI	D) Awarded Quantity	(SGD) Awarded Spend (SGD)
		OPTIONAL: Design and Print the RSIS					_
No	UNIGROW CREATIVE PRINT PTE LTD	Annual Review 2023 OPTIONAL: Design	500	25.00	12500	0.00	0
		and Print of Single-					
		page "With Compliments" Slip –					
		Annual Review 2023	500	0.80	400	0.00	0
	Cactus Communications LLP	OPTIONAL: Design					
		and Print of Single-					
		page "With					
		Compliments" Slip – Annual Review 2022	500	1.00	900	0.00	0
		OPTIONAL: Design	500	1.80	900	0.00	0
		and Print of 8pp					
		booklet for selected					
		essays – Annual Review 2023	500	3.80	1900	0.00	0
		OPTIONAL: Per					-
		Additional Print Block					
		of 200 Copies for Annual Review 2023	2	7,800.00	15600	0.00	0
		OPTIONAL: Per	_	.,000.00	.0000	0.00	•
		Additional Block of 10-					
		pages in 4C X 4C – Annual Review 2022	5	2,250.00	11250	0.00	0
		OPTIONAL: Per	O .	2,200.00	11200	0.00	Ü
		Additional Block of 10-					
		pages in 4C X 4C – Annual Review 2023	5	1,800.00	9000	0.00	0
		OPTIONAL: Design	3	1,000.00	3000	0.00	Ü
		and Print of 8pp					
		booklet for selected essays – Annual					
		Review 2022	500	3.80	1900	0.00	0
		Write, Copyedit and					
		Proofread All Content - Annual Review 2022		11,800.00	11800	0.00	0
		Design and Print the	1	11,800.00	11000	0.00	O
		RSIS Annual Review					
		2022 OPTIONAL: Per	500	42.00	21000	0.00	0
		Additional Print Block					
		of 200 Copies for					
		Annual Review 2022	2	8,250.00	16500	0.00	0
		OPTIONAL: Write, Copyedit and					
		Proofread All Content -					
		Annual Review 2023	1	11,800.00	11800	0.00	0

Awarded	Supplier	Event - Lot Title	Bid Quantity	Price (SGD)	Total Bid (SGD)	Awarded Quantity (SGD)	Awarded Spend (SGD)
No	Cactus Communications LLP	OPTIONAL: Design and Print the RSIS Annual Review 2023 OPTIONAL: Design and Print of Single- page "With Compliments" Slip – Annual Review 2023	500	42.00	21000	0.00	0